A disk of mass m starts from rest and rolls without slipping on an inclined surface. Fmd a} angular
velocity, b) velocity of the center of gravity 7
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The angular velocity of the 4-1b homogeneous bar is 8rad/s clockwise in the vertical position. After the
bar rotates 90° clockwise, it strikes the two springs and continues to rotate until spring 1 is compressed
0.20in. The spring constant of spring 1 is twice that of spring 2. The springs are unstressed when the

bar first strikes them. Find the spring constant of spring 1. ’—-
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